Roll No:-
Sem-V Diploma Exam 2023 (Odd)
(Computer Science & Engineering ) (Theory)
[Time: 3 Hours] OOP through Java ( 2018503A) [Max. Marks: 70]

- All questions are compulsory. (H‘l-ﬁ gy ffard g )}
- Marks are mentioned on the right side of each question. (3/& T+t 7% & T3 3R 3ifdhd fHA ]))
Group (A) (9 -8)

Q.1  Choose the most suitable answer from the following options. (1*20=20)
_ (Taitee Iude fawea &1 g ford |) -
I What is the size of float and double in JAVA?(SITAT & Tdllc 3R Sde &7 3THR AT § ?)
(a) 32,64 (b) 64,64 (c) 32, 32 (d) 64,32

ii. which component is used to compile, and execute the java programs?
(STrar S B FHarsd, 3T, 3R vFeage e & fov fFE S 1 39Aer R e 8?)

(a) JRE (3 37 3) (b) JIT (3 3 &) (c) JDK (3t & &) (d) JUM (ardres)

iii.  What is not the use of “this” keyword in Java?
(STTaT # ""g" HIGS H FAT 3UANT el g§7)
(a) Referring to the instance variable when a local variable has the same name.
(FUAT W & A AH gl R 3T W HT Sk e )
(b) passing itself to the method of the same class.
(3 @ & afr # g # 9w Fwem)
(c) passing itself to another method
(e 1 g@dr fafr @ ury e )
(d) calling another contractor in contractor chaining.
(g AfAT 7 gEY HEgF T Pl S )

iv. Which exception is thrown when java in out of memory?
(STTaT #AART ¥ 6] gl WX HiA-AT 794G theh Gam ST 87?)
(@) Memory error  (b)Out of memory error (c) memory out of Bound exception  (d) Memory full exception
(FARY TR ) (313 3iTF FART TR) (FARY 33T 3% §135 394IG) (FARIGS Tarier)
V. Which of the below is not a Java profiles? (7T & & il @1 SaT NHER FET & ?)
(@) J profiler (b) eclipse profiler (c) JVM (d) J console
(ST SIHIFeR) (180T RIS eR) (3t dr w) (chiter)

vi.  Which one of the following is not an access modifier?
(AT & O i -T7 TFaT TMUS Adl 87)
(a) Protected (TXfara) (b) void (=) (c) public (ara=ifae) (d) private (=)

vii.  Which of the following option leads to the portability and security of Java?
(=@ & & HIT-A1 fasheq SiraT &1 garedar 3R geam 1 3R o Sidr g?)
() Bytecode is executed by JVM (SIEITH gaRT arscais fosaifea fram Srar g1)
(b) The applet makes the Java code secure and portable. (Tcle STTaT #Is &I FRET IR GNEder F=rar &)
(c) Use of exception handling (3maare gsfelsT &1 393ie))
(d) dynamic binding between objects (a3iT & drer arfaefier se=T))
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viii. ~ Which of the following is a valid declaration of a char?

(eafaf@a & & &l a1 Ut IR T 3 99T 8?)
(@) char ch = \utea”, (b) char ca= ‘tea’; (c) char cr =\u0223; (d) char cc = itea’;
(TR o= ‘Ger;) (@R dT = =9 3;) (TR 3R = \u0223;) (TR T = itea’;)

ix.  Which of the following tool is used to generate APl domination in HTML format from doc comments in source
code? (Fd s # sfarey eeuforl & HTML 9T #, T3S Sl 3cdeed el & a0 oot 7 & fvw <ot

HT 39IRT fRAT AT §7?)

(a) javap tool (b) Javaw command (c) Javadoc tool (d) javah command
(STTaTT 3UeRIOT) (STTa 31eer) (©ICEERXC)) (ST HHATS)
X. In which process, a local variable has the same name as one of the instance variables?
(frg ufshar &, T TAT T FT T AT 8T § ST T 3ET8I0T W HT 8T g7?)
(a) Serialization (b) Variable shadowing (c) Abstraction (d) multi — threading
(hASEAT) (aRad= T o) GIGRGE) (95 FT)
Xi. Which one of the following is not a java feature?
(Fe=faf@a & & i @1 rar BrR J8F 82)
(a) Object oriented (b) Use of pointers (c) Portable (d) Dynamic and extensible
(FE] & 3-7Y) (3ART ST gIWT) (qréTen) (afareler 3R TR fAad)
xii.  If athread goes to sleep.

(3R P YT A ST §?)
(a) it releases all the locks it has (T& 3r9a arg #Hige @l drell &I BI5 & gl)
(b) it does not release any locks (Ig HS dTelT =g BISAT &1)
(c) it releases half of its locks (g 3T9eY 3Ter dTel DI &aT §1)
(d) it releases all of its lock except one. (Tg TH &l BISHT AT THT olfeh I RelieT AT g1)

xiii.  Given, array list= New Array list () ; what is the initial quantity of the Array list?
(&= s Array List = = 71§ Array List (); Array List =7 &1 IR AT &1 §7)
(@5 (b) 10 ()0 (d) 100

xiv.  Which keyword is used for accessing the feature of a package?
(st 1 gRanst 7% g & v fRe $ag & s B S )

(a) Package (4%e) (b) import (31Ta) (c) extends (fa¥aR) (d) export (faata)

xv.  Inwhich memory a string is stored when we create a string using new operator?
(ST §H 1T 3HIRER T 3YAT Fleh Ueh [Tl FolTd g, df fohd AART & v RBgar TR $ir 3t § 2)
(a) stack (b) string memory (c) heap memory (d) random storage space

(Fh) (Fegar AFRY) (T #=ARY) (AT T9)
xvi.  Which of these are selection statements in Java?

(STaT H S48 § Hled - T TIA HUA 87?)
(a) break (s) (b) continue (Ffe=y) (c) for (BR) (d) it (5%)

Page 2 of 4 (2018503A)



xvii.  What do you mean by nameless objects?
(3T aE3iT @ TRl &1 dead g?)

(a) An object created by using the new keyword. (1T 1S &I 3YAT Fh TaAlg IS TE])

(b) An object of a superclass created in the subclass. (393 & §ATT T SRLEEIn: $r th aEd 1)

(c) an object without having any name but having a reference. (T a&q Toraer IS ATH €l & et T Heel &)
(d) An object that has no reference. (t& a¥q fo&eT 1§ Fesl w7 8)

xviii.  Which of the following creates a list of 3 visible items and multiple selections abled?
(o=t # @ Pl 3 TIAET FEIIHT T G, Toar § 3R vt T2 a1 R §?)

(@) new list (false, 3) (b) new list (3, true) (c) new list (true, 3) (d) new list (3, false)
(75 T ( 3781.3)) (7 & (3,97 )) (7 & (AT, 3)) (75 = (3, 3rEcY))
XiX.  ------ is used to find and fix bugs in the java progress
(STTaT W H 9T Al @rolel 3R S el & Tl —--emmm HT 39T fRar ST §?)
(@) IVM (31 dr ©#) (b) JRE (St 3R 3) (c) JDK (S 3T &) (d) JDB (st 3 &)

XX. What does the expression float a= 35/0 return?
(TFEIRIST Felle a= 35/0 ResT a1 adr g7?)

(@0 (b) not number (F&aT )  (c) infinity (3t=ad) (d) run time expression (& 319d1<)

Group (B) (JU -dt)
Q.2 Differentiate between JDK and JRE. 4
(12 X IIWE F T IR |)
OR (31YdT)

Write a program to demonstrate the following to compare two strings. 4

(fFrafaf@d # 9efiid &= & v v W e s@edt o e & fau)

Q.3 Differentiate between thread and process. 4
(23 IR N/F & T AHAT F:N)
OR (31yYd)
Discuss the process of initializing and definition of the variable is JAVA. 4

(JAVAF aRTsel &1 o3l 3R aRemreT & gfshar @ ==l #))

Q.4 Discuss the inheritance in detail with examples. 4
(3ETEX0T & |1y fardd ) AEar & T &)
OR (31Yd)
Discuss JAVA selection statement with example. 4

(3STEIOT & HTY JAVA T AT W T )

Q.5 Explain the exception handling and its types is detail. 4
(TFACL gsfoidT 3R 3Hh ThRT ol [AEAR & FHASSU |)
OR (31ydT)
Discuss JAVA iteration statement. 4

(ST YeRIafd YT WX =T HLl)
9 (&
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Q.6 Discuss class interfaces and drivers related to JDBC. 4

(JDBC & HeTd Folld 3chd 3R BRI 9 TaT )

OR (31dT)

Explain the concept of class and how objects are created. 4

(@ & HTUROT AR TG 1 FAT F AT ST §, SR aqredr H)
Group (C) (39 - )

Q.7 Write a program to read and write files is JAVA. 6
(STTaT FISall df Tgat 3R for@e & forw e g o)
OR (31Yd)
Write a program in JAVA to explain recursion. 6

(Re8eT & FASS & T Sar & o g fafew )

Q.8 Discuss various data types used in java with proper example. 6

(JAVAR YhRT T Yl Bl dlel faffieeT SeT YehRT T 3 3areor |iga ==t
HifaT])

OR (31YdT)

Discuss type conversion and type casting with proper example. 6

(3T 3CTEI0T & ATY TBY Fodolel R BT HIfTcT G TdT H|)

Q.9 How to create a package? Explain with example. 6
(FhsT HH IR HT ? 30T Aigd TAZST |)
OR (31yYd)
Define the term static method with example. 6

(Fdfas Al ereg o1 3geor afga aReia Hifsw))

Q.10 Discuss garbage collection in JAVA? 6
(JAVA #H HeRT HIGUT T §?)
OR (31YdT)
Write a program to find out whether the given number is palindrome or not. 6

@ 8 e dRPH § A A, Ig 9 I & v v v g )

Q.11 Discuss about managing user and groups. 6
(UAFA3T R FHET & G & aR F == B |)
OR (31YdT)
Give the attributes of applet tag. 6

(TsRe T T RRIaT? AT |)
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